LY ~A7ZVEEHER

Variable Displacement Pump LY -A7V

L
XM EOEER, ATAXEBERBEEEF,
XREBSEDWRLEARAER, EEHERHKET, TERALTHTR,

XEHEERMFE, ATEMEENATIIE,
XAT WA R TE,
Description

% Variable displacement pump,axial piston, bent axis design, for hydrostatic
transmissions in open circuits.

# The flow if proportional to the drive speed and the displacement and is steplessly variable at constant drive speed.

# Comprehensive programme of control devices for every control and requlation function.

# Operation of both mineral, and fire—resistant fluids.

o ﬁfg’fff,ﬂ- - A T

i s

y g a0 €)'
:...-.-fl:-:'-a\" WA II’!}
. l".‘

oy . s
k] o
= T 1 % S e ’
Ji R v o
-l SR

R FSeriest ®¥ISeries 5.1
HMHESize20-160 M Size250-500
SRR Special Features
MMM R A EIRME R, WLHM  xHigh performance rotary group with sphericalcontrol area offering the following
Bahxith, (EEE, W, advantages;self-centering, low peripheral speed, highsfficiency.
XBZ B AS R AT, % Drive shaft will support radial loads.
ey %Long service life.
MAERELR, 3% Low noise level.

RN

R iR (S ) BEZREANFRNER, SEETERERE, AMEREEPEMNRIBRERS
#Bi390T,

FENHOEATM=0.08MPa (EXEH) , BWMED (FEALTRHEREES) M<0.2MPa ( #XE
), REAERSHELSSETEN TEREREE FIMIESE,

(BHX) rREARARE, (e, EZEHFERRISEBATEASETISA, HEEX, BAEMA,

NOTES

Important: The leakage oil (case drain oil) temperature is influenced by pressure and pump speed and is always higher
than the circuit temperature. However, at no point in the circuit may the temperature exceed 90T.

The minimum pressure at the suction port of the pump=>0.08MPa {absolute pressure),and the drain pressure(max.
permissible casing pressure)is 0.2MPa (absolute pressure).The pressure in the housing must be the same or greater than the
external pressure to the shaft seal

The technical information in the catalog is for your reference. Please consult our technical Dept., if you have any special
requirements.



& S#i8 Type Code
55

1-£5#3# 3 Machinery Type

Shie -, $#8s%, WIEE Axial piston, bent axis,variable OS-A7V
2 ¥ Size
HEMDisplacement mL/r 20 | 28 | 40 | 55 | 58 | 80 | 78 | 107 | 117 | 160 | 250

3-Z5 ML Control Device

18 o 35 | Constant power control LV
8 3 % £ %515 B ¥ 3 Constant power control with load sensing LVS
{8 =25 i Constant pressure control DR
#8 [ 4 &5 38 25 &k Constant pressure control with load sensing DRS
F 312 & Manual control MA
4-%.%| Series

$#k&Size 20-160 1
Bl#&Size 250-500 51

5-kedk 771 ( MBI ) Rotating Direction(View on Shaft End)

MR B¢t Clockwise R

1 BF £+ Counterclockwise L
6% {# Shaft End

{E4Splined shaft DIN 5480 z

#£8Splined shaftGB3478.1-83 S

i §ilKoyedshaftGB1096-79 P

7-ill A&, Ports Type

EAMO:SAEX=, MM, Pressurs port: SAE flange, on side.
ik O:SAE%=, fEMM. Suction port: SAE flange, on side. K
EAim O sRe &R, Z£MHE, Pressure port: threaded,on side. i
Wik O:SAE%E=, £, Suction port: SAE flange, on side.
8—1T#2FR{ Stroke Limiter
& # none 0
¥LAAT#E B (A FLVAIDR)Stroke limiter,mechanically adjustable (for LV and DR) M
i R 4T 2 B 4 (] FLV)Stroke limiter, hydraulic (for LV) H
94 Bh >4 Auxiliary Equipment
&% None 0
5 5 1 Y1 i With pressure cut—off D

1T #8 & OrdaringExample: CR-A7V 55.LV.1.L.ZF.0.0

R RFCR-ATV, WSS EIHREES, RIN. HMSHirte, MEZER, SAERZER, RHITRAMMENMEITY.
Axial piston variable displacement pump CR-A7V size 55.With constant power control, series 1.
Anti-clockwise rotation, splined shaft, SAE flange connections, without stroke limiter and auxiliary equipment.




#H A $ W Technical Data

1, FOTEEABEE@EXIER)

Inlet Operation Pressure Range(Absoclute pressure)

R {ELE ST perin

0.08MPa
0.2MPa

2, HOT{EENEHE
Outlet Operating Pressure Range

BELES p

35MPa

R [E 77 pmex

3. 38 ®/Technical Date
(Bit{l, FEFEVUMIBFATVE Theoretical values,without considering mechanical efficiency and volumetric efficiency)

40MPa

M Size 20 | 28 | 40 | 55 | 58 | 80 | 78 | 107 | 117 | 180 | 250
4 WDisplacement Vgmex mL/r| 205|281 | 40.1 |548| 588 | 80 | 78 | 107 | 117 | 160 | 250
Vgun mlt| O | 81| O |158| 0 [231| O |308| 0 |462| O

LV @ | o| o | o | o | o | @ | o

Rl LVS o o
it:;”é;;m DR o o o o ° °
Available DRS ® L
MA ® @ ® ® [ L ® ® @ @ [ ]

. #0.00MPa’  nmesos  r/min | 3800 | 2800 | 3200 | 2360 | 2850 | 2120 | 2540 | 1900 | 2240 | 1650 | 1400
ﬁi‘:: - #£0.1MPa Nnmeo1  K/min | 4100 | 3000 | 3400 | 2500 | 3000 | 2240 | 2700 | 2000 | 2360 | 1750 | 1500
#r0.15MPa'  nmeoss  r/min | 4750 | 3600 | 3750 | 3000 | 3350 | 2750 | 3000 | 2450 | 2650 | 2100 | 1850

; ZENmax0.00 Qmaose L/min| 76 | 76 | 124 | 125 | 161 | 164 | 192 | 197 | 254 | 256 | 340
ﬁﬁ; ZENmed.1 Qmeos L/min| 82 | 82 | 132 | 133 | 170 | 174 | 204 | 208 | 267 | 271 | 364
ZENmax0.15 Qmaois L/min| 94 | 98 | 146 | 160 | 190 | 213 | 227 | 254 | 300 | 326 | 449

Boh ThE ZEQmaxt59 Praoos KW | 45 | 46 | 75 | 75 | 97 | @@ | 116 | 119 | 158 | 154 | 204
Max . Power ZEQmaso.1 Proa KW | 49 | 49 | 80 | 80 | 102 | 105 | 123 | 125 | 161 | 163 | 218
(Ap=aBa) | Qmeats Praois KW | 57 | 59 | 88 | 96 | 114 | 128 | 136 | 153 | 181 | 196 | 270
ik Flow #ZEne=1450r/min  Q  L/min| 288 | 395 | 564 | 77.1 | 823 |112.5(109.7 [150.5|1646 | 225 | -
ﬂi;"':;a} He T 177 | 24 | 34 | 46 | 50 | 68 | 66 | 91 | 99 | 135 | -
#14E Torque P Vamax M Nm (326|446 | 637 | 87 | 932 |127.5| 124 |169.7| 186 | 254 | 3975
{Ap=10MPa) ZEVgmn M Nm | - [120| - |51| - |98B| - | 48 | - |7a5| -
46 Torque #EVgmax M Nm | 114 | 156 | 223 | 305 | 326 | 446 | 431 | 594 | 651 | 889 | 1391
{Ap=35MPa) #EVgmin M Nm | - |45 | - |8 | - |[120]| - |1 | - | 257 | -
i 48 Moment J kgm? 10.0017]0.0017]0.00520. 00520.0109/0. 0109/0.016710. 0167]0.0322/0. 0322| 0.088
H i Weight kg 19 | 19 | 28 | 28 | 44 | 44 | 53 | 53 | 76 | 76 | 105

1, BT Wik OSRIMRIE Y], BV AT Wil T,
2, BlEHMEMOT%ME .
3, MEEEMmEERT, BMEEANMEN015 MPaRiri (Y, #£28-20, 55-40, 80-58, 107-78, 160-117&EIRKER, 3 FVou> OHJHBE
A, WO ( VecVor ) FERFRCTER, 9% 0550 T 58 W 20 2R 48 A Vorn=00 R E

1. The values shown are valid for Vg=ex. With an absolute pres—sure at suction inlet S and wh en operated on mineral oil.
2. Calculated with a volumetric efficiency of 97%.
3. The maximum speeds at 0.15MPa shown must notbe ex—ceded, even with higher lcadin g. On those sizes with V>0, howeverthe
maximum speads can be increased to the values for those sizes with V=0 by reducing the displacement (Vz<Vome) and maintaining max.
fiow. The relevantsizes are 28-20, 50-40, 80-85, 107-78, 160-117.




#F{2E Mounting Position

. RENDARLTERME. SRTHAHR, BHORKMEESTNT, 1

il ABAETE, HFLE—190° BHEL(RIEDRT). BIEKE

Optional. The pump housing must always be filled with oil. When mounting min. oil lavel
within atank the plug must be removed from port Rand this port must be at A ; =

the top.90° pipe bend to be screwed in {(noise reduction). ~._U1.uz
IRzl b B %23 Vertical mounting with drive shaft pointing upwards * B

Mk HAE HTFHROURNULRERS ( AXFiRATUNU: ) . BERTAE

T “A" &, ME1PTR. BFig 1

FERE AN OV RUASEAART, YT, RESE
HAEEM O U UHES

For this case a model with ports Ui and Uz must be ordered (indicate in cleartext: “with ports Ur and U2" ). The minimumo
oil level must not fall belowthe “A" line, as shown is Fig1.

When mounting within a tank the plua must be removed from ports Ui and Uz. When mounting outside a tank, the
pump must be bled at port U1 or Uz prior to commissioning.

ZR ¥ TN EB Mounting on Top of Tank

OS-A7VEERRE T AT MARERNRRER, Ritdl
SERSA TR, ITHEHEER: AT AR, Lt e
ZETFR(ERME 200mm, HE2, BHEHRERR Suction bend pipe _— Airtight assembly
ERRAE 0.6 F Im/s:Z . EQ

BFARE QRS TRAERS ( Vo ) HER), HTF :
BHMVemnFFRRRIR, QmicFRAXIRET AT B = o
Vomab%4k, KRR TIERMRBERS,

|

|
Mounting of the OS—-A7V variable pump above tank must et )| 5

I

l

F

—_—

be considered as a special pump installation and should B {E% B Lowest oil
only be realized under specific conditions. ——

When ordering pumps for mounting on top of tank \
state in clear text: “ToBe Used for Above Tank
Mounting”

This installation requires that the suction portbe atthe
top and the suction pipe be kept as shortas possible
and the end of the pope be at least 200mm below
minimum oil level, see Fig2. The cross—cut of the suction
pump should be dimensiocned to ensure thatthe flow
velocity of the pressure fluid lies between 0.8 and 1m/s
Start—up of the pump with all controls is only possible when the pump is at its full swivel angle (Vgmex),For pumps with
minimum flow of =5% of Vgmes. In order to avoid emptying of the suction line during zero position operation.

EFig 2

R TR, RREKESHE

o | 2, | tmnes o O T
ize Mo
r/min LmT{pr:m} mﬁ nmﬁn]

20 3610 600 41.8 26.5

28 2660 600 42 31

40 3040 750 53.6 37

85 2240 750 53.8 43.3

58 2700 750 61.3 45

80 2015 750 61.6 52.3

7B 2410 750 66.6 51.6

107 1800 a0 67.5 60.5

117 2125 850 76.6 63.3

160 1565 850 77 74

1) R OUE A T D FE 71 250.09MPa,  HERRA Vora B A8 i TR,
The values shown are valid for V.. with 0.09MPa absolute pressure at suctioninlet S and when oparated on mineral oil.




LV{ETZ3E I B Constant Power Control

Exh R REBHEEREN, RMAKEREEERE, &

RiSHRAHOKEDRERE,
The constant power control controls flow in relation to

pressure. thereby maintaining hydraulic power constant.
{Provided that the drive speed is constant.)

k%ﬁﬁﬂﬂanm
P—Zj13E power][KW]
P—H J1pressure[MPa]
Q—ife fiow[L/min]

i A Commencement of control: min. SMPa

i OGRH RN BT EE R
Summation power control possible by throttles via port G.

TR EStroke Limiter
STREHV AT 7 B 88 R 47 R B4 B W] T R A A S s R

BCHER, VTS EVanaEVomin.
By means of a mechanicalor hydraulic stroke limiter, the

max. displacement can be infinitely vared or limited
Adjustment range from Vgmax t0 Vgmim.

YU {TIRFR{Z%% Mechanical stroke limiter

B 20 40 58 78 117 250
Size 28 55 80 107 160
WA
Spindle 23 21 28 31 26 21.25
Revolutions
s
Required Torque | 80 140 500 630 - -
(approx.)Nem

WUE4T 2 FRAr 8% Hydraulic stroke limiter
BETERUBBERNT IEEN10%HEREH(
X1O), MWMOX1RE®2IFEH=30MPa(XBrH &
¥), IRWERBTEEN<5MPar iRk, W»

OX2HEmMAE-TF sSMPamgEm E R (M H X1E 7 A 5x
10%=0.5MPa),

A Pilot pressure (port X1) of at least 10% of the operating
pressure is required for the hydraulic stroke limiter Max,
permissible pressure atporiX1=20MPa {for all sizes)

if it is required to limit the flow at an operating pressure
<5MPa then a boost pressure of min SMPa must be
applied at port X2 (at port X1 then,min10%=0.5MPa)

54 B T #F

v

ﬁfﬂ?‘aﬂ'ﬁ:ﬂﬂﬂﬂi’ﬁﬂﬁn
EAVHEEnEEREBHNEEERS, T FHF
B, YEIiGENEREHNNNTHIEERI1.5MPa), %
W37, REBEDEPEQ=0, MFESTRLIFRE, Tk
FEMELNAE (8 ) RS L. REETKETA
BKFom, HFRSEEBERIMITE,
YEATEHDE A ERERN, RERRTEHGEEREE
R RDREIE3E,

HW: NF S O TS ER OT1 45 D A,
ETEETENDREEFER,

|
Rl
=

THRETERANENEFELV-----H
Constant power control with hydraullc stroke limhter

Auxiliary Equipment
Pressure cut—off

For all sizes with Vgnn=0

The pressure cut- off is aconstant pressure control superposed
onthe constant power control and is camied out by means ofa
sequence valve. When the set. maximum pressure is reached
(adjustment range up to 315MPa), the valve opens and the flow
is automatically reduced (fo Q=0).

The sequence valve is mounted separately from the pump in any
suitable location one subplate (remote control).

When using the constant power control with pressure cut- off,
the pump control times, will be approximately3 times longer
than those obtained with the constant pressure control DR.
Imporiant: Port T from the sequence valve and pilot oil retum line
T1 must be piped directto tank (cooler). Continuous operation in
zero position see constant pressure control DR.




| e i B ._T::. Al
: R SR AT |

41Ot ———4Op 2 i O Ports
. f“‘t“‘lf"‘:‘"xﬁ : B & 773 OPressure port

el | | | ! ) ) S g i O Suctiorl port
S At R e G A Ty = 4§24 OPort for summation power control line

| | I -
: Lc:{j’ 5l B | | .__+ X1 5% S 71 OPilot pressure
| T e - _L| B *I_ 1'|| X2 #8¥% OORemote control pressure
I T S e i BT 1T = A1, X3 &4 ik OPorts for remote control valve

g R e . T o S T1 4& 5 [ id OPilot oll return
SN (B ) REET AR ETRERLYHD R HE* DAir bleed

Constant power control with pressure cutoff

(remote controlled) and hydraulic stroke limiter
% B T 3 ig 7 35 H] Variable power setting range
HikE Size 20 | 28 | 40 | 55 | 58 | BO | 78 | 107 | 117 | 160 | 250
¥ ESpeed Mo | r/min | 1450 | 1450 | 1450 | 1450 | 1450 | 1450 | 1450 | 1450 | 1450 | 1450 | 980
ik Flow Qo L/min | 28 39 BT 77 81 |(110.5| 110 | 150 | 165 | 225 | 237
R S A B A Pomin | KW 3 4 |55 |75 |75 | 11 |11 | 15 | 15 | 22 | 22
Without pressure cut-off Porex KW | 11 | 15 |185| 30 | 80 | 37 | 37 | 45 | 55 | 75 | 90
R SRR ig eI Pomin [ KW | 3 W55 [ =V 75| = |11 | = | 154|e= | 22
With pressure cut-off Poux| kW | 10 | - |185| - |27 | - |37 | - |55 | - | 90

DR{E E ¥ I Constant Pressure Control

EEERERTREBARBREENEEAZEFTRBELNOEN, ERFEUAETESANEEER, MREHEHGEM,
NFREHBEVNEE

IBEATERER LIGE (RA%E, HR4E8 ) , 9EEE5S-35MPa, W TRIEEAMENFRLIZE, BiERIQEBES-
31.5MPa.

HETRE A T Ven=08 BT T &,

The constant pressure control maintaing the pressure ina hydraulic system constantwithin its control range in spite of
changingpump flow requirements. The variable pump supplies onlythe volumeof fluid required by the services, Should
operating pressure exceed the set pressure, the pump is automatically swiveled back to a smaller angle.

The required pressure is set either direct at the pump (valve built in standard model} or at the separate sequance valve forthe
model with remote control. Setting range from 5 to 35MPa. Setting range for re mote control 5to 31.5MPa.

X |
34 = 28 = . = ] I 4 e |
e 2L R N e § BA -1
i lﬂklul_.- LrI IH'LL[
L i | - - —e
_ e | : i B A
AT B R |
: A L N ‘ l‘*’im
' &t |
i [t ] el ____l ]I
|—L-I__1 - S — - = - ’ " B ._L:,F‘I’?——?"I
8 T
HETRDOR ( MA%E) HETRDOR ( 8#)

Constant pressure control DR (valve built—in} Constant pressure control DR (remote controlled)

B BERREEFRNER. BAERRARKEFEESm. MARMOTAAKERRE. ETREPHTEARPARSN, XEHEELR

Ee A ET I E F iR E R 2MPa.,

Note: Order sequence valve subplate separately.The max. single pipe length should not ex ceed 5m. Port T from the sequence valve must be
piped separately to tank. A pressure relief valve installed in the system for protection of the max. pressure must be set 2MPa above the setting
of the constant pressure control.




% i mAdjustment Times - BX T {E Parallel Operation

#I# Size 20 40 58 | 78 | 117 LAOS-ATVIHETRRIELT(Ent, FiHAS &%,
Vonn—Vomex t8(S) Eﬂﬁﬁﬁgﬁ “HERTIE" o
g HECTIERE &R W =S H AN,

ﬂEBﬁ:ﬂT:adm 016 | 0.2 | 025 | 0.25 | 0.3 For parallel operation of several OS-A7V pumps with
Prasai g constant pressure control. A steeper curve is used for the
Vamax—Vgmin 1a(S) constant pressure control.
FE5-35MPa 0.03 | 0.04 | 0.05 | 0.05 | 0.06 Please indicate this requirement intext afteethe type
Pressure built-up code when orderin{ “parallel opperation” )

For parallel operation each individual pump réguires its
T, J=PaEmkofs. own sequence valve,

The values in the table are increased by 3 timaes for remote control.

TR MR £ Stroke Limiter

T RY FHERTTIE RO B R i A HE I R R0 PR B 2 Vomex S Vomn Z (6], 1ERLVIER,
The max. displacement can be steplessly limited between Vgnax to Vgmin by means of a mechanical stroke limiter.
For details see control device LV.

ER A EZT {E Continuous Operation in Zero Posi tion

AHEEMENEITERIE WAk BE R AT T 1E-
Zero stroke operation without flushing of housing Zero stroke operation without flushing of housing
B LFER B RIFES
Shmmﬁ max.pressure Pma(MPa) 31.5 ¥ | maxpressure Pmu(MPa) LG
Pt EmAWBE Long periods | s 4 /i &
<o mﬁt&nmamﬁ.ara trax(C) S0 mEE.tamparatura e C) 50
BEALFEN 20
#15 max.pressure Pma(MPa)
Long periods B iR 50
max.temperature tmax(C)
YRERGE O
Connection for flushing
# ¥k i MFlushingflow
MiESize 20 40 | 58 78 | 117 | 250

ix 1k flow Qsp L/min 2 4 6 g8 | 12 | 125

LOS-ATVERR Tl #EN#BEPrCH31.5MPa MK B ¥ITE TIEH,
SR = LR B AR R Sk R S A

MNote:When mounting the OS-A7V on top of tank and at zero stroke
operation for longer periods of time at pressure up to Pmax 31.5MPa
a minimum flow > corresponding to flushing flow as indicated for
each size in the above table must be set instead of case flushing.

St R < AR A
Temperature of flushing fluid<tank temperature

MAF 33 Manual control A(B) « R
ET R TS B T AT S RIE R AMIED), HSHk R A -
BEBIEIED, MAHEREVewnZEVeedtE N R b T HEHR B

By tuming the handwheel, a piston is moved in an axial direction by
means of a threaded spindle. A carrier pin moves the control lens
onits sliding plane, thus pemitting stepless variation of the pump

displacement in the range Vgmin to Vgmax. The pump position indicator
is located in the handwheal.

WO Ports =
B  EJ#OPressure port S
S i OSuction port FRHhTEEMA
R #SDOAirbleed Manual control




jt4 R Unit Dimensions

LViET EEFF R Constant Power Control

H{bP E@GB/T1096 As

H (@S FEHGCB/T3478.1
8 {hZ JE3DINGAB0

SO (MM EHiEsB0 )

g T/ AR TR S 5 -
Am A5
e S YN\ s S B
il N - jﬁl 3 S
L A | ¢ @
< | {}

\El:l ( {¥Bd$HEEFESO ‘.i

WiTRRA A EIhE I Constant power control with stroke limiter

A . BUEGERAE

] e ————




§pMEE R ~H$EDimension Size

gﬁnﬂhi‘uﬁahkhﬂrﬁlﬁahm An | A Az A | A | Av [An| An |Ax| An | Az | Ax | Ax
20 | 9° |251|224|199(107| 75 |16 |25| 8 (43| 28 | 80 |160|M10#17|100|21.5| 85 |52 | 19 | 38| 69.9 | 94 |35.7| 78
28 |16°|280|223|195(107| 75 |18 |25 43| 28 | BO |149|M10#17|100|21.5| 95 (50| 33 | 38| 689.9 | 94 (35.7| 59
40 | 9° |317|287|255|123|108|20|32|10(35| 28 | 123 |261 |M10R17|125| 25 | 98 |63 | 23 | 50| 77.8 |102|42.9| 87
55 |16° | 327|206 |251(123|108|20|32|10(35| 28 | 123 | - |M10®17|125| 25 | - |63 | 40 | 50| 77.8 |102|42.8| 64
58 | 9° |374|337|304(152|137 |23 |32 |10(40| 33 | 152 |313 | M12R®18 |140| 30 |109|77 | 26 |63 | 88.9 |115|50.8| 93
80 |16° | 385|347 |300(152|137 |23 |82 |10(40| 33 | 152 | - |M12}R18|140| 30 | - |77 | 47 | 63| 88.9 |115|50.8| 68
78 | 9° | 381|347 |310(145|130|25|40|10|45|37.5| 145 |318 | M12{#18 |160| 35 |119|80 | 28 | 63| 88.9 |115|50.8| 101
107 | 16° | 393|358 | 305 (145|130 |25 |40 | 10 (45 |37.5| 145 | - |Mi12}®18|160| 35 | - |80 | 19 | 63| 88.9 |115|50.8| 73
117 | 9° | 443|402 | 364 (214|156 |28 (40 |12 |50 | 43 |[174.5|369 | M14jR1B |180| 40 |136|93 | 32 | 75 |106.4|135|61.9| 114
160 | 16° | 454 [ 414|359 (213|156 |28 |40 |12 (50| 43 |1745| - |M14R18|180| 40 | - |88 | 57 | 75|106.4| 135|61.9| 83
gﬁhhhhﬁ»hhhﬂuﬂnﬂuﬂmAnhAuﬁmMAnAuAHAnAﬂAHAW
20 |132| 95 | 11 |125| 58 | 58 |118 |50.8| 19 |23.8 | 46 | M1O®{17|193| - |19 | - | MB |27.9| 25| 19 | 50 | 38 | 257 | 226
28 |145|80 | 11 |125| 58 | 58 |118|50.8| 19 |23.8| 46 | M10OM17|189| - |33 | - | M8 [27.9| 25| 19 | 50 | 38 | 269 | 234
40 |166/|109(13.,5|160| 71 | 81 |150|50.8| 19 |23.8 | 53 | M10B®#17 | 253 |261|23 | 98 [M12 |32,9| 30 | 28 | 60 | 40 | 323|290
55 |182| 91 (13.5|160| 71 | 81 |150|50.8| 19 |23.8| 53 | M10OB17 |249| - |40 | - [M12|32.9|30 |28 | 60 | 40 | 337|299
58 |168|113(13.5|180| 86 | 82 | 185 |57.2| 25 |27.8 | 84 | M127#18 | 301 |313| 26 |109|(M12| 38 |35 |28 | 70 | 62 | 378 | 344
80 |194| - (13.5|18B0| 86 | 92 | 165 |57.2| 25 |27.8| 64 |[M12R18|297| - |47 | - |[M12| 38 |35 |28 | 70 | 62 | 391 | 354
78 |180|120(17.5|200| 89 | 93 | 100 |57.2| 25 |27.8 | 64 | M12#R18 | 306 |318| 28 | 116 |M12 |43.1| 40 | 28 | B0 | 55 | 385 | 342
107 |200| 98 [17.5|200| 89 | 93 |190|57.2| 25 |27.8| 64 |[M12R18|301| - |19 | - [M12|43.1| 40 | 28 | 80 | 55 | 400 | 363
117 |195|137 [17.5|224 (104|113 | 210 |66.7 | 32 |31.8 | 70 | M14R19 | 359 |360| 32 | 136 | M16 |48.5| 45 | 36 | 90 | 65 | 445 | 408
160 |212 112 [17.5|224 (104|113 | 210 |66.7 | 32 |31.8 | 70 | M14319|354| - |57 | - |M16|48.5| 45 | 36 | 90 | 65 | 461 | 420
ﬁm Az | A |Ase| SBASS | Ac | Al As | Aeo | Ao | Aee | Ass | Ao | Asr| Ass[Am Skt ZHtER
20 |230| M3%9 | 108 | B8 |§2X10|161|14|176| 77 |104|129|228| 92 | 5 |40 | 8 | EXT18zx1.25mx30Rx5f | W25x1.25x30x18x8g
28 |242| M339 | 108 | 8 |§2X10|161|14|186| 58 | 84 |144(238| 73 | 5 |40 | 8 | EXT18zx1.25mx30Rx5f | W25x1.25x30x18x9g
40 |279| M4ABR10 | 134 |10 | #3X10|184|16|204| 85 |117|147(276(104| 5 |50| 8 | EXT14Zx2mx30Rx5f W30x2x30x14x9g
55 |292| M4#R10 | 184 |10 |$83X10|184|16|215/ 62| 98 |128(288| 83 | 5 |50| 8 | EXT14Zx2mx30Rx5f W30x2x30x14x9g
58 |330| M5#R12 |155.5|16 | #5X16 |228 |24 |251| 91 |116|142(328(104| 7 |56 |10| EXT16Zx2mx30Rx51 W35x2x30x16x9g
80 |343| MSER12 |155.5|16 | #85X16 |228| 24 |265| 65| 91 [120(339| 80 | 7 |56 |10| EXT16Zx2mx30Rx5f W35x2x30x16x9g
78 |338| M5#12 | 160 |16 |#5X16|236|24|261| 96 |124|150(336(112|8.5|63 |12| EXT18Zx2mx30Rx5f W40x2x30x18x8g
107 |351| M5312 | 169 |16 | #5X16|236|24 |276| 71 | 97 |126|348| 86 |8.5|63 |12| EXT18Zx2mx30Rx5{ W40x2x30x18x9g
117 |384 [M58%12.5| 192 |16 | #25X16 |266| 24 |204|111|137|164|382(125|10 |70 |14| EXT21Zx2mx30Rx5f W45x2x30x21x9g
160 |399 [M5B%12.5| 192 |16 | §#i5X16 |266| 24 |310| 79 |108|137|396| 96 |10 |70 |14| EXT21Zx2mx30Rx5f W45x2x30x21x8g
il 0 R~} % Ports Size
it B (i) B [ MG ) s R G T1 X1, X2 | xa3, Af
20 SAE3/4" (15 B % 5) M27x2 SAE1 1/2"EERF) | M16x1.5 | M14x1.5 | Mi12x1.5 | M14x1.5 | M12x1.5
28 SAE3/4" (% FE ] 71) M27x2 SAE1 1/2"(&HERZ) | M18x1.56 | M14x1.6 | M12x1.6 | M14x1.5 | M12x1.5
40 SAE3/4" (18 B % 3) M33x2 SAE2"(RERER) Mi8x1.5 | M14x1.5 | Mi1Bx1.5 | M14x1.5 | M18x1.5
55 SAE3/4" (1 = R 7)) M33x2 SAE2"(lRAER R M18x1.5 | M14x1.56 | M18x1.5 | M14x1.5 | M18x1.5
58 SAE1"(# E R 5) M42x2 SAE21/2"(iER R F) M18x1.5 | M14x1.5 | Mi8x1.5 | M14x1.5 | M18x1.5
80 SAE1" (i B} 51) M42x2 SAE21/2"(l=HERF) | M18x1.5 | M14x1.6 | MiBx1.5 | M14x1.5 | Mi18x1.5
78 SAE1" (5 &R H) M42x2 SAE2 1/2"(i5HERF) Mi8x1.5 | M14x1.5 | Mi8x1.5 | M14x1.5 | M18x1.5
107 SAE1"(EERM) M42x2 SAE2 1/2"(#x ¥ R ) M18x1.5 | Mi4x1.5 | Mi8x1.6 | Mi4x1i.5 | M18x1.5
117 SAE1 1/4"(HERF) M48x2 SAE3" (R Ak R 5) M22x1.6 | Mid4x1.5 | Mi8x1.56 | M14x1.5 | M20x1.5
160 SAE1 1/4"(MER ) M4 8x2 SAE3"(kx#E % 5) M22x1.5 | M14x1.5 | M1Bx1.5 | M14x1.5 | M20x1.5




DR{EE 3 Constant Pressure Control

FRAET
Standard Model
Al

i FAC)
Sremote Control

WigSize | a | A | A | A | Av | As | As | Ar
20 9° | 251 | 134 | 95 |106 (38 | - | -
40 9°| 815 | 166 | 107 | 127 | 40 | 14 | 53

58 9° | 372 | 160 | 107 | 138 | 62 | 15 | 69

70 | ATRDGERATFEE, XERTULY,
A1 and X3 only fot remote contrel. Other dimensions sea LV
Ti:M12x1.5

78 9° | 380 | 180 | 114 | 147 | 60 | 14
117 9° | 441 | 199 | 132 | 165 | 65 | 14 | 83

MAFE13FE Manual Control

F#3 T handwheel downwards F# 3. I handwheel upwards

M Size a Ad As Aa As #i% Size a Ai Az B Bz
20 g° | 251 108 175 95 20 9° - ~ - -
28 16° | 260 108 190 80 28 16° - = = -
40 9° | 315 134 197 | 108 40 g9° 317 | 100 175 | 1325
55 16° | 323 134 | 215 89 58 9° 316 | 100 168 | 166.5
58 9° | 327 | 18655 | 2156 | 107 80 16° | 385 | 100 188 150
80 16° | 380 | 155.5 | 235 86 78 g° 315 | 100 180 | 157.5
78 9° 355 169 198 138 107 16° 383 100 270.5 132.5
107 16° 380 1689 270 g2 117 g° 430 100 210 201
117 9° 441 192 261 132 160 16° 445 100 225 143
160 16" | 450 192 | 285 | 107 250 26.5° | 584 | 120 | 320 230

B FRU LT, ITHEMNERE,

Please give clear indication of the handwheels are upwards or downwards, when you order goods!




4 R Unit dimensions ## Size-250
LViEzh# %>k Constant HP control

| 41

DriE =< I Constant Pressure control
#8 % Standard Modal

173

T

T

—
BN
0%

\!
v (¢
/69

%
‘Gl

P
47 . R
=i 2

EE, RE250: 810587
Waight,size 250:approx.105kg




EPE$#%°# Flactric Control

445

max198

395

307 «
: 4
AB E/mA service lines
S RO suction line
G MEEHDO remote control pressure M14x1.5 T S%BMmEMO piotoil retum line M14x1.5
{ Bzh®iEEMO ) ( connection for summation HP control } T+ %SMEHMO pilot oil return line M18x1.5

U MO flushing port M14x1.5 R HO air bleed M22x1.5




	启东联谊机械_页面_099
	启东联谊机械_页面_100
	启东联谊机械_页面_101
	启东联谊机械_页面_102
	启东联谊机械_页面_103
	启东联谊机械_页面_104
	启东联谊机械_页面_105
	启东联谊机械_页面_106
	启东联谊机械_页面_107
	启东联谊机械_页面_108
	启东联谊机械_页面_109
	启东联谊机械_页面_110

